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7 527 ojl=d 583 7 536 &S i
8 8

&= 400m (Z35) =3 800m (Z#3)
1= 1=

giel | #Hs a9 A gel | s 849 =
1 1
2 2 539 el Ll
3 516 A58 A F 3 524 ZAD |FAa&EHR)
4 540 o] LIS 4 507 ol d L2 i
5 539 e LI 5 540 o|&% LI
6 535 ol Ll 6 515 949 A%
7 7 506 A 12 ey
8 8 531 o5& Ak
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H
=
3o dME -
&S 1500m (Z3) =3 3000m (Z3)
12 1=

giel | #Hs a9 = gel | s 49 =

1 514 il AAS 1 514 il AAS
2 515 F44 A% 2 538 A% E=Llics
3 531 ole Abs: 3

4 538 -zt LIS 4

5 5

6 6

7 7

8 8

L= 110mH (Z3) = 400mH (Z35)
1= 1=

giel | #Hs a9 = gel | s 849 =

1 1

9 2 522 A =L
3 533 AEA LI 3 517 ozt LI
4 4 518 453 Ll
5 5 519 AR LI
6 6 520 ol5 Ll
7 7 521 &S Ll
8 8 527 gl Loy
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2020 HM|503| M=AEMSFCHS] & A[1028] H=H|SCHEICHH|H7HH 2]
xc L}
3o BAE

=2 400mR (Z23)

1=
A HS s
1
2
3 5321533534535 =Ll
4
)
6
7
8
=2 1600mR (Z35)
1x
A HS e
1
0341536 | 537 =Ll

O | 3| O | U | &~ | W | DN
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2020 HI503| HRAFRISHE| X H1023] HBHSTHSICHHIH7ICH3]
2= LIXIH
56 FAE

oS =077 25

us HelF7| 85

gel | Hs a9 A gl | Hs Ay A
1 517 CRIES A% 1 505 G|k i
2 525 ANE [ F2&FER) 2 508 olZ4g L i
3 026 olsE | F2&HTER) 3 518 HafE oA
4 537 A4 =Ll

5 541 gl Y

6 542 = =Ll

=25 MES7| ES g5 EZatEX|7| d2s

Zel | Hs a9 A gl | Hs a9 S
1 519 L3Rl AAS 1 502 ol TA%
2 503 178" FA%F
3 511 ARE Ry

1 522 oA ¥ e

5 543 s BRES

6 544 AR v
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2020 HI50

2
(=)
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0l
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Lk
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No | Ko

4 | M| e | 20| 5 | o | N
AT e (N | = | =

R ) i el R e
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mo | B | = | || TE |
Zo | KB | RO | oF [oB | = | 4
o ||| = | R
mzigig|z%|g
Tl o |5 | n|w|w|wn
m123456
ar| e | e | XKoo | o
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2020 HM|508| H=mAHEMFE R M1022] H=AH|SHE[CHH|E7 =]

L ofxpy

4= 100m (04|M 2X 39|) + 2

1x 2
Zel | Hs a9 oo Zel | Hs Yoy ey

1 1

2 2

3 512 ol AAZ 3 513 R Loy
4 510 HAF  |Fa&(EER) 4 511 22| $- AAZ
5 509 X9 AE A% 5 501 | HAlE
6 514 Y LIS 6 508 ol A AHoAE
7 507 ojthel AH A% 7

8 8

41



2020 H[502]

HIAEMSUE] Y AM1023] IS CHS|CHH| L7 HH 3]

H
ZE O{xjH =
Ci= 200m (Z3) Ci= 400m (Z3)
1x 1x=

gel | Hs a9 = Zel | s Yok ey

1 1

2 2 514 FAY HuljF
3 507 ojthel AT ols 3 519 il A S
4 509 X% A% 4 503 S8A A%
5 502 oA & A% 5 518 73 i
6 513 uhE 3 Qi 6 517 FAEX) L
7 7 502 o) A& A%
8 8 520 A7 & i

0{= 800m (Z35) 0{= 1500m (&%)
1= 1=

gel | Hs a9 = gel | Hs Yok sy

1 1 515 &Fall& LIS
2 2 516 oo B
3 515 ¥l L 3

4 519 | A E 4

5 503 SAA AAS 5

6 520 A& gulF 6

7 7

8 8
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2020 HM|508| H=mAHEMFE R M1022] H=AH|SHE[CHH|E7 =]

|
|=
A A
o= 1500m (&%) o= 3000m (&%)
1= 1=
ol | #H3 Sl A gol | #H3S a= A%
1 516 207 e 1 513 223 JE-Huf
2 517 FAEXC] E2LlS 2 514 FAEXC] Hu) S
3 518 A9 Hufj 5 3 525 gaAx SAAAAF
4 4 539 Zhof| H] A EZAS
5 5 545 IR ST
6 6 548 B ] SRAAF
7 7 563 o] MBI S
8 8 564 z919 MEDAS
A A
015 100mH (Z3) {55 400mR (Z3)
1= 1=
gol | #H3 =% A AA HS A
1
2
3 | 508 BEE Aoz 2
4 3 | 514 | 517 | 518 | 520 Uujj=
2 4
6
7 5
8 6
7
8
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35 ofxty

0iF EF0I77| 25

oS alEy| 23

Zel | Hs 49 A gl | s Ay s

1 504 AAS dAS 1 501 ISl A AS
2 510 AR | Fa&EER)

0= EatHX|7| #S o= HHtHx|7| AS

giel | Hs 4% AL gel | Hs A9 S

1 505 Fxd 21 1 505 Fxd A%

2 521 Aad TA % 2 521 AT 1A%

3 524 A&7 LIS 3 522 o]4=8l Sk

4 526 FaA Ll 4 523 73] AR F

5 527 A TA% 5 524 A&7 Ll

6 598 AL IAZE 6 525 =37 5

7 530 °]7]7 MAF 7 526 ¥dA Ll

8 531 A A& A E

oz &Hx7| 25

gel | Hs 49 A

1 506 1ol AAS

2 512 & A Z

3 525 =317l LI

4 5217 A TA %

5 528 7152 TAE

6 529 14573 Sk

7 530 0]7]7 s

38 531 A A& M Z

9 532 0|44 Aks:
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2020 HM|508| H=mAHEMFE R M1022] H=AH|SHE[CHH|E7 =]

H
=
S LiXpe =
Lt 100m 25 S0 200m 25
Zel | Hs 49 B gl | s a9 s
1 1
2 2
3 1005 =57 o A 2 3 1005 ke oA 2L
4 1006 Ayl o) 4| 1 4 1007 A4 of A4 2L
5 5 1008 A oA 2L
6 6 1009 A4 2 e A
7 7 1002 o]l Al
8 8
Lo 400m 25 =t 800m &5
Zel | Hs &9 B Zel | s a9 e
1 1
2 2
3 1002 ol Hl Al il 3 1017 HAE oA 2
4 1008 A&H 2 e A 4 1022 298 2 A
5 1009 &4 o A 32 5
6 1007 A4« o A 2L 6
7 7
8 8

=21 5000m 25

HS AL gel | Bs 49 SEs
1 1017 o lb 1 1018 A7 oA 2L
2 1018 o A 2 2 1019 olFE oA 2L
3 1019 o A4 2 3 1020 ol&4 oA L
4 1020 o 4| 1L 4 1021 sj4 oA 2L
5 1021 o) LA 1 5 1023 Blaet oA 2L
6 1022 oA 2 6
7 1023 oA 2 7
8 8
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- 15 LRt

Lt 110mH (Z3)

1=
gl | s g3 A&
1
2
3 | 1001 | Hge A1
4
5
6
7
8

21l 5017 25 2 B=OIF7I 25
; —

gel | #HS el A% =Sl 4 A%
1 1010 217 o) LA 1 1 1015 ekl o A 22
2 1016 o|Fd o A4 1
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2020 HM|508| H=mAHEMFE R M1022] H=AH|SHE[CHH|E7 =]

|
= L H
A A
=21 HelF7]| 25 =21 M| 25
el | #HS el A% ol | HS 4 A%
1 1001 EA A= Al 3 1 1003 ojE Al
2 1003 o|E Al a1 2 1011 %53 o 4| 2
3 1011 7=3] =l 3 1012 A A o 14| L
4 1012 A A o LA 2L 4 1013 AA; o 4| 2L
5 1014 £33 o -4 2L
— A o AL
o Z2HX|7] 25 =1 |8Ex|7| 25
el | #Hs =l A% 42l | S 5] A
1 1004 AZA | FAaEAEAS 1 1004 AAA | FAEAAS)
— () A
b BEX|7| 2 b BIEX|Y| 25
el | #Hs =l A% 42l | HS 5] A
1 1024 Hogul o 1A 2L 1 1025 A= oA 2L
2 1025 1e$ o 1A 2L
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2020 H[502]

H=zAEH

1S oixte

ISzl 2 ®M1022| M=HISH | CHH| 7o =]

0{1 100m 25 0{ 200m Z5

Zel | Hs 49 B gl | s a9 s
1 1

2 2

3 1001 GRSt 7o 3 1003 oAzl ol
4 1004 Ay o A 2 4 1004 Ayt oA L
5 1005 &1dwl o A 1L 5 1005 5149w oA 2
6 1013 o]&F Al 31 6 1006 o] A& o A4 2
7 7

8 8

o 400m &5 o{x 800m Z5

Zel | Hs &9 B Zel | s a9 e
1 1

2 2

3 1003 o] A Aol 3 1009 2A)3] o 74 3
4 1002 Ale-A Holn 4 1008 4% oA 2
5 1006 o| x| & oA a2 5

6 6

7 7

8 8

o1 1500m &5 o1 100mH &%

Zel | Hs 49 2o gel | Bs 49 SEs

1 1008 =49 =i 1

2 1009 2A) 3] o A4 1 2

3 3 1001 875 ks Bl
4 4 1014 &3] Al AL
5 5 1002 Al oA Zgrgolat
6 6 1015 3] Al AL
7 7

8 8
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1S oixte

o 400mH Z&

01 £0IF7| 25

Zel | Hs 49 A gl | s a9 s
1 1 1007 244 oA L
9 2 1016 A4 Al 1
3 1014 %3 A 31
4
5
6
7
8

o "HalH7| 25 of1 MIEHH7| 25

gel | Hs a9 Al el | S a9 s

1 1016 A7 Al 1 1015 A28 AT 31
o{1 RHIEX|7| 25 ol FHEx7| 25

Zel | Hs 49 AL gel | s a9 e
1 505 =X A% 1 1012 ral il oA L
2 521 Ao FAF 2 1013 o|&z Al 1
3 522 oj4=Hl A%

4 523 A2 3] AAE
5 524 A&7 s
6 525 =37l L
T | 52 | ad BITES ol SHHEX|7| 25

el | S AH A
1 1010 AR oA 2L




